GENERAL PARTS GUIDE V3

Genuine spare parts guide for
Omnitech

Ausplay

Playdium

Playbooster

Ultimate

Little Tykes Commercial

SMP

HAGS

Kidspace

Finnskoga




GENERAL PARTS GUIDE V3

You can’t find the part you are searching for?

Austek Play has thousands of items in our spare parts range. This guide contains only the most popular items.

If you require a part that you can't find in this catalogue, simply call your state representative, and they will assist
you with finding the correct part you need.

Need more help?

Austek Play staff are qualified playground auditors and safety inspectors, with years of experience within the
commercial playground industry.

Please contact us and we will guide you in the right direction.On most occasions we will be able to help you over
the phone or via email, however, we can also meet you on site to better determine the parts you may require.
Need an ongoing maintenance program?

To protect your investment and give you peace of mind that you are fulfilling your obligations under the Duty of Care,
Austek Play can tailor a specific playground maintenance plan for your playground.

Contact us to learn more about our playground maintenance programs.

CONTENTS

Slides 2
Brackets & Rails 3
Hardware 5
Clamps 6
Trak Rides 7
Marine Grade Stainless Torx Bolts 8
Swings 9
Caps 11
Decks 12
Spring Rider & Spinner Paris 14
Spring Toys 16
Panels 17
Tubes 20
Roofs & Tools 21

CONTACT US




SLIDES

-

SLD0OD06 Caterpillar Slide 1800mm

Vs

~

' 3 Stainless Steel Slides ' ;
SLD011 Caterpillar Slide 800mm custom made to any size required SLD016 Siide Entry Hood

SLDOD4 Caterpillar Slide 1200mm

SLD0O05 Caterpillar Slide Curved 1200mm SLD006 Double Wide Slide 1600mm



BRACKETS & RAILS

= 23

BKT220 Rail Mount Bracket &, Silver BKT20224 Pommel Walk Bracket BKT222 Pommel Seal Brackat

BKT214 Basic Shde Mount Bracket Extreme BKT1135 Slide Deck Mount Brackel

._ —

BKT141 Cat Slide Exit Leg for 1200 & 1600 Slides BKT216 Cat Slide Exit Leg for 800 Slide

) |

RAL20189 Safaty Loop (1 loop only) PNL2018BT Deck to Post Safety Infill (1 safety post only)




BRACKETS & RAILS

BKT288 Hole Climber Mount Bracket

RAL197 34mm x 235mm Threaded K2 Rail OTHODD0S Squeeze Bar

BRGA50 60mm Swing Bearing

BKT138 Slide Canire Leg for
RAL194 K2 Rall BKT140 Slide Curve Cenire Leg 1600 Slide




HARDWARE

FSTS2T M10 X 21 X1.255 FS5T524 18 X 1 X 166G S5

FST528 Shakeproof M10 55 FST531 Spring Washer 55

FST538 Nyloc Nut 3/8 85

BKT146 Clavis Deck Mount

5| -
FST208 Tek Screw 146G 10 X 50

FSTT01 Pivol Buffer FST195 Tek Screw 14G 10 X 22 FST127 Touch Nul 3/8 ZP

&

PNTOD2 Muckoff Graffiti Remover ;
Touch up paint. All standard colours FST168 Galv, Anchor Botl 16mm FST124 Barrel Nut 38mm Long

FST158 U-Drive Pin Large FST510 U-Drive Pin Srmall

€




CLAMPS

rd

CLP415 Clamp Tee 25 X 25 CLP413 Locking Collar

CLP429 T Half Clamp 25nb Plain
CLP425 Swing Frame Cannector K2 CLP430 T Half Clamp 24nb Threaded

CLP403 Clamp 5 X 1 CLP404 Clamp Half

CLP40T Clamp Swing CLP410 Clamp Bracket

CLP416 Clamp Deck SPO0B Piglail Hook BKT406 Clamp Ring Trek

BKT409 Deck Cleal




TRAK RIDES

OTH127 Trak Ride Trolley (External) CAP410 Trak Ride End Cap OTHDO0T Trak Ride Trolley Wheel
Suits 50 N/B Pipe Suit Ausplay Internal (Intermal) For OTH105 & OTH141

OTH20104 Ring Trek OTH106 Suspended

Handle with- S-Hook Hand Grip with chain

OTH105 Trak Ride Trolley — OTH141 Trak Ride Trolley -
Straight Wheels Angled Whesals

OTH17T1 Bomac Nylon Trak Ride
Whesl (for OTH127)

OTHO20 Trolley Guide OTHO18 Trolley Guide

OTH13A Trak Ride Buffer 35mm
OTHO12 Trak Ride Buffer - Litimate diameter OTHO13 Trak Ride Buffer - Extreme




MARINE GRADE STAINLESS TORX BOLTS

d AR R R R R R R R R WA

FSTE00 Torx Bolt 3/8 X 100 Stainks eel F8T1683 D Shackle 6mm T 30 Torx

R A A T Y MY P TR ETATAY IV SITETR

FSTS53T Torx Bolt 378 X 70 Stainless Steel

FST545 Torx Bolt 3/8 X 50 55 FSTS535 Torx Bolt 28 X 40 FSTS505 Torx Bolt 2/8 X 30

FST504 Torx Bolt 38 X 25 FST503 Torx Bolt 3/8 X 20 FST502 Torx Bolt 3/ X 15

FST544 Torx Clavis Bolt 2/8 X 72 55 FST508 Tee Mut 378 - 2 Flats 55




SWINGS

SWST01 Slashproof Seat

SWS500709 Baskel Seat
RT125308 im Birdnest
RT4125305 1.2m Birdnest
RT125220 Security Chain 6mm
RT1252 Universal joint wiplate

SWSA50 Safety Seat RT252 Basket Swing Hinge | SWS00705 High Back Aduf

SWST706 wiframe
SWST06A wio frame




SWINGS

CHNTO2 Hose 28mm X 204 0mwm

CHN20220 Smooth Gold Chain Bmm Short Link

CHNGCMESL 6mm Gal Chaln Shart Link
CHNGCMESL 8mm Gal Chain Short Link

FST159 Scale Swing Clevis

FST160 Chain Clavis

OTHA70 Climber FST160a Chain Clevis
Pommel K2 SWST10 Pommel Seal Complate

FST183 5 Hook Large 8.5mm 55 MG only (no Zinc avail. )
FST198 S Hook Infant Bmm Zinc
FST196 S Hook Small Bmm 316 55
FST157 S Hook Small Bmm Zinc
FST197 Chain to Chain & Hook Zinc

APDOS50 Orange Zippy Plug
APOOSG Gray Zippy Plug

SWSP0953 Skale Dropper 2085mm with Clevis
SWSP0952 Skale Dropper 16865mm with Clevis

SWSPE3B Skale Dropper 2085mm no Clevis
SWSPSIA Skale Dropper 16685mm no Clevis

SWSP63 Skale Dropper (Bracket & Pommel only)

-

D



CAPS

CAPOOB Cap Square 85mm X 65mm
x 2.5mm Plastc (various colours)

CAPDO1 Cap 127

CAPDO2 Cap 25

CAPD11 Cap Square 65mm X 85mm
over Steal Alloy

CAPO06 & CAPOOT DoNut Cap & Body

CAPOO5 & CAPD10 12mm & 10 5mm Hole Flugs




1]

SIS TI Al L= WEE
ans

SIS TW @il O - GEE
an+

DCK118 Extreme Deck PVC coated

53005 TW ekl O'i— ¥WE Y
o

530 TV "dll O'l= 66
(112

S0

DCK131 Extreme Deck Powder coated

A 810 BT

| Wi

o QO o 4
e 9.9 9
& @ o o
o 8 o o
e o o 9
& & 8 @

Les

DCK108 Kid Kuba Deck 85 PVC coated

oo

SIRG TW Cdil O i— ¥E

=31

SIME TW dAl OTi— S5

oL

DCKA131 Powder coated Square

Deck Aluminium Extreme

s w8 W BN
@B 4 & @B R Re

@ oW o m e

Sk G BB E BB BB
I R R R R RN
T I IS
B e o e S e
 EEEEEEE SRR N RN
T Y I L ]
—f&tiittﬁll!itftJ;

yr

._.
1

T RIS OF WINIT (415.08a)
-

[ 1343 £30 DuSge Fou |

DCK101 Playbooster 1/2 Deck
Rectangular PVC coated

28
"
o
o0
0 F‘a
1)
o,
[=}
g¢,!§
\9
oy

[ 00w &
i

o

h'.n.
0T
=y

)

T

o

£

Fo

o

G

o0 o ooEaToen s
I Py eet Sttt
i = u bt o

£
(E3
el
o
a7
o
-
W
BT R

DCK112 Ultimate Deck Square PVC
coated




1060 G/FALL SOUARE

gk

EHi3

:h;o:c:o
=
CEEENS

DKO124 Square Deck for Kid Kube

A Sl BEEl

DKO103 Triangular Deck for Kid

T

ERT

¥ &cH

i

DECKS

e L=

Al .

ogo T
aoas

SRR

4 :

g_frnﬁgngn I.: 2o

o Ll L s
fogegoneronetad =,

DCK113 Ultimate Deck Triangular
FVC coated

playgrounds

1T i

" o hase e a0 n :

B

E R i b

N e
ST )

[ i 5

.-I -3 ¥ _‘,r'/

I

&

&

DCK111 Ultimate Deck Observation
PVYC coated

Kube playgrounds

LT 1S

T SecA] aal FECLL

DCK104 Playbooster Deck Triangular
PVC coated

UPareL




DECKS

290

'
L

DI m
=]

o

93g 935

DCK121 Clatier Bridge Plank - 280mm - PVC DCK122 Clatter Bridge Plank - 200mm - PVC

DCK124 Clatter Bridge Deck Mount DCK115 Slide Entry Deck Ausplay Round 127mm PC

SPRING RIDER & SPINNER PARTS

e

i B AWO00001 Bucky Seat to suit two OTH200 2 Part Rope Joiner with
AWODDDDS5 Whale Seat seal lotter & pony Screw - Black

FST189 Anchor Bolt Galvanised 16mm ]
FST170 Nut Galvantsad 16mm OTH719 Hags Mobilus Handle OTH179 Hags Vippy Seat

14



SPRING RIDER & SPINNER PARTS

Suits Cast Spring Riders

AWO101 Cyclindrical Spring - 140mm BKT20003 Whale & Horse Spring
AWOD102 C Spring D4,/ 400mm high Mounting Plate

i

Suits Butterfly, Fish and 2 Seat Tolter
top and base. Suils the base plate of
the Whale Rider and Horse Springer,

AWO105 Whale & Horse Top Mounting i '
Plate BKT122 Whale Seal Plate AHW20001 Universal Fixing Plate

OTH7T15 Pirouette Handle II ‘ I ’

BRGS60 Firouetie Bearings OTHT18 Bumbile Bea Front Handle OTH71T Bumble Bes Back Handle

15)



SPRING TOYS

AHWPP104 Playpower Spring
150mm DIA AHW105 Animal Spring —120mm DIA ASCP995 Spring Assembly

= <

AHWPS0 Long U Bolt Assembly AHWPS51 Short U Balt Assembly

AHWOD1 Plastic Foolrest (Spring Animals) AHWD02 Plastic Handle (Spring Animals)



PANELS

v

PHLODE Honeycomb Panel PNLD48 Haole Climber Panel Steering Whe:

]

PNLO1T Plaslic Oblique Panel PNL10027 Rainbow Panel PMNLO54 Plastic Arch Panel

BKT20000 Steering Wheel Spigot 1o PNLO52 Naughts & Crosses Block
suil Plastic Steering Wheed (Yellow) K2

PNLO16 Panel with Hole/Flanged

PNLO18 Shop Front Panal

- B35mm DIA PNLD3T Tube Panel — 7T60mm DIA



PANELS

™

PNL20001 Arched Safety Panel Extrems PNL101 Safety Rall Panel Playboostar PNL128 Safety Rail Panel Extreme

T

PMNL1003 Wiggly Panel PNL10031 Plastic Safely Panel PNL10037 Village Doorway Panel

PNL10038 Village Window Pan PNL10038 Village Shop Panel OTH10020 Village Seal BALDO1 Tri Climber Ball

P i’ r P
|

PNL10002 Moonface Paned PNL10022 Sun Face Panel PNL10018 Faces Panel

BALDOD2 Abacus Ball 150mm




PANELS

® ™

BBLOO1 Bubble 575mm BBL002 Bubble 830mm BBLOOS Bubble T&0mm BBL1000E Tube Bubble
DA DA 1A 600 x 450mm

BEL10008 Tube Elbow PNLP3100 Find the Word Panel
Bubbia 535 x 450mm CLHIEIIIM Clinker Climber Sult 835mm opening

OTH20080 Rockwall Rock PNL404 Eye Spy Panel PNL10002 Tube Panel - 760mm
- various colours OTH10034 Stepping Stone - 7TE0mm DIA DA, Suit 935mm opening

.h\i'\ h

.\,l

CLM30000 Rocky Ramble & Plastic Stairway (reversible)
Suit B0Omm deck lo deck Suit BDOmm deck to ground

1060

PNLP3095 Castle Paneal
Suit 935mm opening CLM20030 1200mm High Rockwall CLM20031 1600mm High Rockwall




TUBES

TUB10024 1280mm Siraght Tube
TE0mm DIA

TUB1001 Tube Elbow Flanged 90°
T80mm DIA

TUBDOT Tube Exit Flanged
63smm DIA

Fa

TUB10012 Long Exit Tube
500mm T60mm DIA

TUB10013 Sphere Adapter Short
TE0mm DLA

TUB10021 1000mm Straight Tube
TEOmm DIA

TUB1003 Tube Elbow Flanged 45"
Ta0mm: DIA

TUBODE Tube Elbow Flanged 30"

TUB1011 Tee Junction T60mm DLA

TUB1022 500mm Straight Tube
T60mm DIA

TUB1002 Tube Elbow Flanged 35°
T680mm DIA

TUBOO04 Tube 800mm Long Flanged
535mm DIA




ROOFS & TOOLS

5
a

ROF3020 Plastic Cubby Rool

ROFP3035 Arc Roof with Infill ROFP3025 Sieel Cubby Rool

PMNL3035R Arc Panel - Infill {only)

ROFD04 Dome Roof ROF1005 Village Roof ROFDOS Dome Facade

F il

FST112 T30 Torx Key FST111 T45T
SP36 5-Hook C F&T191 T30 Torx Bit FST180 T45 Torx Bit FST203

; = i 1 APD02 One square Melre Rubber
AP0O01 Premium Maintenance Kit AP002 General Maintenance Kit Repair Kit




OMNITECH EXTREME COLOUR CHART

Omnitech Extreme available colours for posts & steelwork colours

uaaiD SOV

PLAYGROUNDS

Austek Play also provide MEW Australian made
playground units, that can be custom designed
to suit any project you require.

Call us today on 1300 433 364 for a free quote.

ﬂ Themead Playgrounds
i %

UL
(L

\
=

Fitness Playgrounds !

Mo matter how big or small, Austek Play can provide the playground you need.



Call us on

1300 433 364

info@austekplay.com.au

www.austekplay.com.au

il
"..-‘ Local Government |

FRNOCUREMNEMNT ‘:]

iy

AP P‘R;’!.';'ED EHP.I.THA-ET.DE



